SAK Tutor Base—Louise (Y11)

HAB Tutor Base—Rajveer (Y9)

KC Tutor Base—Armaan (Y12)
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KRB Tutor Base—Sam (Y12)

= Laoking 2t the sector marked in RED PEN

The sector side length is R - the radius of the larger cirde

The angle is 60° as it is 1 section of =

From the adge of the hexagan 1o the cantrs is 2r whers "r” is the radius of a small circle

This langth can be warked out by using the trigonometry idemity triangle. R is the hypatenu:
the adjacent side so

=2r
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¢ shaded area in the segment = (1/6 + %) * (Area of small circle)
e shaded area in the segment = (2/3) * ()

gment = 16 * Area of large circle

sment = 1/6 * nR?

aat is shaded = Area of the shaded area in the segment / Area of segment

&

hat is shaded = [(2/3) * (nr?)] / [1/6 * =R

A

nat s shaded = [(2/3) * 1?] / [1/6* RY]

natis shaded = 4r2 / R?

A

natis shaded = 4 [R(V3 / 4)]¢ / R2

hatis shaded = 4 [3R? / 47] /R?

&

hat is shaded = [3R? / 4] / R?

natisshaded =3 /4




